Worksheet: 2_MrIncredible-PrintingCompany-deal.doc

Dash’s Computer Repair Business

Problem
Mr. Incredible has opened a small computer repair company for his son, Dash.  He wants to help his son get his business going by spending some money on brochures and helping his son advertise the business.

Mr. Incredible gets cost estimates from two printing companies.  The costs are given by the equations where C is the cost in dollars and n is the number of brochures:

Company A: 
[image: image1.wmf]
Company B: 
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a) Open the spreadsheet 2_MrIncredible-PrintingCompany-deal.xls and use the equations to compute the cost of purchasing 50, 75, 100, 120, 150 brochures from each company.

· Enter the Fixed cost for each company, replacing the question marks

· Enter the Variable cost for each company, replacing the question marks

· Explain what the numbers 15 and 0.10 represent in the equation for company A.
· Explain what the number 0.25 represents in the equation for company B.

· Enter the formula in B13 that references the visible variables in the problem, that can then be copied down to B14:B18

· Enter the formula in C13 that references the visible variables in the problem, that can then be copied down to C14:C18

b) Graph both equations on the same set of axes using an xy scatter plot.
· Based on your chart, for what number of brochures is the cost the same for both companies?
c) Mr. Incredible wants to spend $65.00 on brochures. Describe the method you used to get your answers to each of these questions.
· How many brochures can he purchase if he uses company A? 
· If he uses company B? 
d) At what point does each graph intersect the vertical axis? What information do these points provide?
e) Suppose that Company A changes its fixed cost to $20 and Company B changes its fixed cost to $10.  Redo the analysis for each of the above questions given these changes to find the number of brochures that can be purchased for $65.00 from each company.
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